13000 GeV pp tt
%‘ % Tt T T T T T | Tt T T T T T | Tt T T T T T | Tt T T T T T |§%
E 107t =— ST(Ieptons, jets) (ATLAS for leptoquark search) =3
S — 3=
1072 - =
3 E =l
B 1 =3 = =9
5 10 = ==
[ 1M
107 - S
= 3>
~ d
107 g =
10° = =
= o
107" - =3
= m  ATLAS 3o
108 &= -+ Pythia 6.428 355 —§§
- &+ Pythia 6.428 356 - ;
10° &= —A— Pythia 6.428 370 =%
0 — Pythia 6.428 379 n ] s
107 g Pythia 6.428 ambt1 5S¢
— —— Pythia 6.428 22 18
10" e =
= 30
— I %
-12 L —
10 = —1 | | | | | | | | | | | | | | | | | |, = =
:l T T T T | ¥ I T T | T T T T | T T T T |:
2 = —2
%) - E
< — ]
| - ]
|_
< - ]
e 1
fe)
T
x
0.5




	Contents
	Page 1


